| Efficiency vs Dxy |

> 0.2
<

© r : :
00185 b
> : E
YV LI E NS S
2 C 5
2 0.14- o o
51 SRS SRR
O | R R

=
(5]

..........

..........

....................................

IIII;&III

o

©

a1
TTTT[TTTT]

................................

.................................

510 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

| Efficiency vs Dz |

0.05 —— DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom
N U. ' T X T
> : : :

9.045
)
.5 0.04
(&)
£9.035
()
0.03
0.025
0.02
0.015
0.01]
0.005

0
1

Ratio

o
©

o
o)

|
W
o

0 10

2030
TP dz (cm)



	Contents
	Page 1


